

DL

Exercice 1

1.  $f_1(x) = \frac{x - x^{3/2}}{1 + x^2 - \sqrt{x}}$   $f_1(x) \underset{+\infty}{\sim} \frac{-x^{3/2}}{x^2} = -\frac{1}{\sqrt{x}}$   
 $f_1(x) \underset{0}{\sim} x$

2.  $f_2(x) = e^x + \cos(x)$   $f_2(x) \underset{+\infty}{\sim} e^x$   $f_2(x) \underset{0}{\sim} 2$

3.  $f_3(x) = e^{-x} - x^{3/2}$   $f_3(x) \underset{+\infty}{\sim} 0$   $f_3(x) \underset{0}{\sim} 1$

4.  $f_4(x) = \sqrt{x} + \sqrt{\sin x} + \sqrt{f_1(x)}$   $f_4(x) \underset{+\infty}{\sim} \sqrt{x}$   
 $f_4(x) \underset{0}{\sim} 3\sqrt{x}$

Exercice 2

1.  $f_1(x) = \frac{(1+x^2) \sin(x) (e^{2x} - 1)}{\tan(5x^2)}$   $\underset{0}{\sim} \frac{x \times 2x}{5x^2} = \frac{2}{5}$

2.  $f_2(x) = \frac{x f_1(x)}{\text{Arctan}(x)}$   $\underset{0}{\sim} \frac{x \times x}{x^2} = 1$

3.  $f_3(x) = e^{\frac{1}{\cos^2(x)}} f_1(\cos(x)) = e^{-\frac{x^2/2 + o(x^2)}{x^2 + o(x^2)}} \rightarrow e^{-1/2}$

4.  $f_4(x) = (\pi - 2x) \tan(x) = 2 \frac{\sin(x)}{\frac{\cos(x)}{2 - x}}$   $\underset{x \rightarrow \pi/2}{\rightarrow} \frac{2 \sin(\pi/2)}{-\cos(\pi/2)} = 2$

5.  $f_5(x) = \frac{f_1(x)}{\cos(\frac{\pi}{2}x)}$   $\rightarrow \frac{f_1'(1)}{\cos(\frac{\pi}{2} \cdot 1)} = \frac{1}{-1/2} = -2$

6.  $f_6(x) = \frac{\sqrt{1+x^2}}{\sin(\frac{1}{x})}$   $(e^{\frac{1}{x}} - 1) \underset{+\infty}{\sim} \frac{x \times \frac{1}{x}}{\sqrt{x}} \underset{+\infty}{\sim} x$

7.  $f_7(x) = e^{f_1(x)} f_1(1 + \frac{f_2(x)}{x})$   $f_1(x) (f_1(x) + o(\frac{f_2(x)}{x}))$   
 $\underset{+\infty}{\sim} e^{\frac{f_1'(x)}{x} + o(\frac{f_1'(x)}{x})} \rightarrow 1$

8.  $f_8(x) = e^{\frac{x}{2} f_1(\frac{1 - \frac{1}{x^2}}{1 + \frac{1}{x^2}})}$   $\underset{+\infty}{\sim} e^{\frac{x}{2} (-\frac{2}{x^2} + o(\frac{1}{x^2}))} \rightarrow 1$

Exercice 3

1.  $f_1(x) = x^3 - 3x^2 + 3$

$f_1(2) = -1$   
 $f_1'(2) = 3(2)^2 - 6(2) = 0$   
 $f_1''(2) = 6(2) - 6 = 6$   
 $f_1'''(2) = 6$   $f_1^{(k)}(2) = 0 \text{ si } k > 3$

$f_1(x) = -1 + o(x)$   $n=0$

$f_1(x) = -1 + o(x)$   $n=1$

$f_1(x) = -1 + \frac{6(x-2)^2}{2!} + \frac{6(x-2)^3}{3!} + o((x-2)^3)$   
 $= -1 + 3(x-2)^2 + o((x-2)^3)$

$f_1(x) = -1 + 3(x-2) + (x-2)^3 + o((x-2)^3)$

2.)  $\sin(x) = x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + o(x^8)$

$f_2(x) = -\frac{1}{3!} + \frac{x^2}{5!} + o(x^3)$

3.)  $f_3(x) = \frac{x^2}{\tan(x)} = \frac{x^2}{x + \frac{x^3}{3} + \frac{2x^5}{15} + o(x^6)}$   $= \frac{1 + \frac{x^2}{3} + \frac{2x^4}{15} + o(x^5)}{1}$

$= 1 - \left(\frac{x^1}{3} + \frac{2x^4}{15} + o(x^5)\right) + \left(\frac{x^2}{3} + \frac{2x^4}{15} + o(x^5)\right)^2 + o(x^5)$   
 $= 1 - \frac{x^1}{3} + \left(\frac{1}{3} - \frac{2}{15}\right)x^4 + o(x^5)$

$$4. f_4(x) = e^x f_n(x-1)$$

$$= e^{2+R} f_n(1+R) \quad (R = x-2)$$

$$= e^2 \left( 1 + R + \frac{R^2}{2} + \frac{R^3}{6} + o(R^3) \right) \left( R - \frac{R^2}{2} + \frac{R^3}{3} + o(R^3) \right)$$

$$= e^2 \left[ R + \frac{R^2}{2} + \left( \frac{1}{3} - \frac{1}{2} + \frac{1}{2} \right) R^3 + o(R^3) \right]$$

$$= e^2 \left[ (x-2) + \frac{(x-2)^2}{2} + \frac{(x-2)^3}{3} + o((x-2)^3) \right]$$

$$5. f_5(x) = \sqrt{1 + 1 - \frac{x^2}{2!} + \frac{x^4}{4!} + o(x^4)}$$

$$= \sqrt{2} \sqrt{1 - \frac{x^2}{4} + \frac{x^4}{48} + o(x^4)}$$

$$= \sqrt{2} \left( 1 + \frac{1}{2} \left( -\frac{x^2}{4} + \frac{x^4}{48} + o(x^4) \right) - \frac{1}{8} \left( -\frac{x^2}{4} + o(x^3) \right)^2 \right)$$

$$= \sqrt{2} \left( 1 - \frac{x^2}{8} + \left( \frac{1}{96} - \frac{1}{64} \right) x^4 + o(x^4) \right)$$

$$x^2 f_n \left( \frac{\sin \frac{1}{x}}{1/x} \right)$$

$$6. f_6(x) = e^{x^2} f_n \left( 1 - \frac{1}{3!} \frac{1}{x} + \frac{1}{5!} \frac{1}{x^4} + o\left(\frac{1}{x}\right) \right)$$

$$= e^{x^2} \left[ -\frac{1}{6x^2} + \frac{1}{5!x^4} - \frac{1}{2} \left( \frac{1}{3!} \right)^2 \frac{1}{x^4} + o\left(\frac{1}{x^5}\right) \right]$$

$$= e^{-\frac{4}{6}} e^{\left( \frac{1}{5!} - \frac{1}{2(3!)^2} \right) \frac{1}{x^4} + o\left(\frac{1}{x^4}\right)}$$

$$= e^{-\frac{1}{6}} \left( 1 + \left( \frac{1}{5!} - \frac{1}{2(3!)^2} \right) \frac{1}{x^4} + o\left(\frac{1}{x^4}\right) \right)$$

#### Exercice 4

$$1. y = 1 + 2(x-1)$$

2. La courbe  $C_f$  est sous la tangente.

#### Exercice 5

$$1. f(x) = \sqrt{x} = \sqrt{1+R}$$

$$= 1 + \frac{R}{2} - \frac{R^2}{8} + \frac{\frac{1}{2} \left( -\frac{1}{2} \right) \left( -\frac{3}{2} \right)}{2 \cdot 3} R^3 + o(R^3)$$

$$= 1 + \frac{R}{2} - \frac{R^2}{8} + \frac{R^3}{16} + o(R^3)$$

$$g(x) = e^{\sqrt{1+R}} = 1 + \frac{R}{2} - \frac{R^2}{8} + \frac{R^3}{16} + o(R^3)$$

$$= e^1 \left( 1 + m(R) + \frac{m(R)^2}{2} + \frac{m(R)^3}{6} + o(R^3) \right)$$

$$\text{avec } m(R) = \frac{R}{2} - \frac{R^2}{8} + \frac{R^3}{16} + o(R^3)$$

Puis remplacer et ne garder que les monômes de degré  $\leq 3$ .

#### Exercice 6

$$f_1(x) = \frac{x^3+3}{x+1} = x^2 \left( 1 + \frac{3}{x^3} \right) \left( 1 - \frac{1}{x} + \frac{1}{x^2} - \frac{1}{x^3} + o\left(\frac{1}{x^3}\right) \right)$$

$$= x^2 \left( 1 - \frac{1}{x} + \frac{1}{x^2} + \frac{2}{x^3} + o\left(\frac{1}{x^3}\right) \right)$$

$$f_2(x) = \frac{f_n(1/x)}{\cos x - 1} = \frac{x - \frac{x^3}{2} + \frac{x^5}{3} + o(x^5)}{-\frac{x^2}{2} + \frac{x^4}{4!} + o(x^4)} = -\frac{2}{x} \frac{\left( 1 - \frac{x}{2} + \frac{x^4}{3} + o(x^2) \right)}{1 - \frac{x^2}{12} + o(x^4)}$$

$$= -\frac{2}{3x} \left( 1 - \frac{x}{2} + \left( \frac{1}{5} + \frac{1}{12} \right) x^2 + o(x^4) \right)$$

Exercise 6

$$\begin{aligned}
 3. f_3(x) &= \lim_{x \rightarrow 0} (1+x^2) - \frac{1}{x} \\
 &= \lim_{x \rightarrow 0} (x^2) + \lim_{x \rightarrow 0} \left(1 + \frac{1}{x^2}\right) - \frac{1}{x} \\
 &= 2 \lim_{x \rightarrow 0} (x) - \frac{1}{0} + \frac{1}{x^2} + 0 \left(\frac{1}{x^2}\right)
 \end{aligned}$$

Exercise 7

$$1.) \lim_{x \rightarrow 0} \frac{x - \text{Arcsin}(x)}{\sin^3(x)} = \lim_{x \rightarrow 0} \frac{-x^3/3!}{x^3} = -\frac{1}{6}$$

$$\begin{aligned}
 2.) \lim_{x \rightarrow 0} \frac{e^{\sqrt{4x^2} - e} - \sqrt{4x^2}}{\tan^2(x)} &= \frac{e^{2\sqrt{1+\frac{x^2}{4}} - e} - 2\sqrt{1-\frac{x^2}{4}}}{\tan^2(x)} \\
 &= \frac{e^2 \left(1 + \frac{x^2}{4} - (1 - \frac{x^2}{4}) + o(x^2)\right)}{x^2 + o(x^2)} \\
 \xrightarrow{x \rightarrow 0} & \frac{e^2}{2}
 \end{aligned}$$

$$3.) \frac{x^e - e^x}{(x-e)^2} = \frac{e^{\ln(xe^x)} - e^{ex}}{h^2} \quad (h = x-e)$$

$$= e^{exh} \left( \frac{e^{-\frac{h^2}{2e}} - 1}{h^2} \right) \rightarrow e^x \left( -\frac{1}{2e} \right)$$

$$\begin{aligned}
 4.) \left( \frac{\sin x}{8h^x} \right)^{\frac{1}{x^2}} &= e^{\frac{1}{x^2} \left( \frac{x - x^3/3! + o(x^3)}{8 + x^2/3! + o(x^2)} \right)} \\
 &= e^{\frac{1}{x^2} \left( \frac{1 - x^2/6 + o(x^2)}{1 + x^2/6 + o(x^2)} \right)} \rightarrow 1
 \end{aligned}$$

Exercise 8

$$\begin{aligned}
 1.) f(x) &= \sqrt{x^2 + 1} - x \\
 &= |x| \sqrt{1 + \frac{1}{x^2}} - x \\
 &= |x| \left( 1 + \frac{1}{2x^2} + o\left(\frac{1}{x^2}\right) \right) - x \\
 &= |x| - x + \frac{1}{2|x|} + o\left(\frac{1}{|x|}\right) \\
 &= 2 \min(x, 0) + \frac{1}{2|x|} + o\left(\frac{1}{|x|}\right)
 \end{aligned}$$

$$\begin{aligned}
 2.) g(x) &= x^3 \sin\left(\frac{1}{x}\right) \\
 &= x^3 \left( \frac{1}{x} - \frac{1}{3!x^3} + o\left(\frac{1}{x^4}\right) \right) \\
 &= x^2 - \frac{1}{6} + o\left(\frac{1}{x}\right)
 \end{aligned}$$